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6,709

3,354

05

o

L=140mW=15 12m 31 4 31 4 3303 3303 3303 3303 -
L=260m W=31m 30 5 30 5 1,003.0 1,003.0 1,003.0 1,003.0 -
L=265m,W=18m 30 4 30 4 827.3 827.3 827.3 827.3 -
L=120m W=18m 30 6 30 5 1,237.8 1,107.2 1,107.2 1,107.2 -
L=180m,W=15.5m 31 4 31 4 465.2 465.2 465.2 465.2 -
2,726 30 30 30 30 3109 778 778 778 -
L=185m W=12 30 4 30 4 156.0 156.0 156.0 156.0 -
L=165m W=10 30 5 30 5 295.2 295.2 295.2 295.2 -
L=260m,W=31 2 5 2 5 200 200 200 20.0 -
8000 30 4 30 4 9,019.0 2,100.0 2,100.0 2,100.0 12
6 3 4 3 4 270 18.0 18.0 18.0 22
B C
13,691.7 6,400.0 6,400.0 0.0 6,400.0
L=110m W=11 3 3 3 3 295.1 295.1 295.1 295.1
40ha 2 3 2 3 136 136 136 136
308.7 308.7 308.7 0.0) 308.7]...
(A+B) 6,708.7,
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| X | 3,354.0 | 16 v) | 2013730 [ x v 3,354.0
16
1,388,000 589900 0
[ 3470000 5
017 0
10ha 050 589900
05 41310000 | 33,500,000
' 38,190,000 | 30,990,000
040 49,120,000 | 35,690,000
' - 37,170,000 | 30,180,000
. 41,510,000 | 32,370,000
- 39,520,000 | 35,640,000
280,600 - 30280000 | 30,280,000
0 33,700,000 | 28,640,000
3
163,800 o Y1) 108761 0
0002 132,000
/ 44,000,000 5223920,000
0 o 112200000
3470000 165
23,000 680,000
3,600
0
4,400 (o} 5,111,720,000
9,400 5,300,000
543,800
0
9283 2400 0
140000
0
9283 4400 3,700,000 l Y2) 201,373
l (X1) 3,354.0 ]
[ (X2) |
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0.500

2,963.000

A 6,400.000
B 308.700
(A+B) 6,708.700
(+) 0.000
3,745.700 |
(A+B+C+D) 6,708.7

50
10/10x A+B 9/10x al
50 6,708.700
9/10x _A+B 9/10x
10/9% a
7111111
10/8x
x 1/2 3,354.350
+ ( ) 0500
( x X X x_ ) [ 3354350 ]
3,354.3
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A 6,400.000
B 308.700
(A+B) 6,708.700
(B/(A+B)) 0.047
@]
F

(A"+B") 0.000

(A")

(B")

H
F
A"=A B"=B H=A"+B"=A+B

(A+B) 6,708.7

A"
B"

4/10*(A+B)

2,683.480

5/9*A

3,555.556

2,683.480

+ (A+B)

0.400

5/8*A

0.000

2,683.480

+ (A+B)

0.400

1)

3)

0.000

= (A"

#DIV/0!

X F+ xH

#DIV/0!

2,683.480 |

2,683.4
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3303 169.1 388 728 49.6
1,003.0 95.8 151 315.9 300.0 206.2 70.0]
8273 2720 146.8 1412 186.0 813
1,107.2 1725 91.0 895 280.0 1929 2813
4652 59.2 83.0 130.0 1930
778 616 162
20.0 0.0 0.0 0.0 20.0]
156.0 74 56.0 926
295.2 23 124 21 0.0 1253 153.1
2,100.0 1376 196.6 11793 586.5
180 9.0 9.0
6,400.0 749.2 4936 867.1 22131 1552.6 524.4
295.1 295.1
136 20 116
308.7 0.0 0.0 20 306.7 0.0 0.0
6.708.7 749.2 4936 869.1 25198 1552.6 524.4
f22 11.2%| 18.5%| 31.5%| 69.0%| 92.2%| 100.0%j
0 0 0 0 0 0
f22 #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0!
0 0 0 0 0 0
f22 #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0!
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